‘| The branch of physics which deals with study of
/| motion of objects, is called:

1| Identify the base quantity:

H| Which one of the following is nota d
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Choose the correct option:

H| The word “science” is derived from:

English Yl D Latin (£ v C Arabic ¢/

Thermodynamics Mechanics Kinematics

Jfl{lj’r/é" D Jﬁi{/ C S5y

| The study of internal structure of Earth is called:

Heat . Sound c Geo Physics
o 5 VT 2%
H| Refrigerator is based on the principles of:
Light Sound Thermodynamics
D b C iy @
i < %3l u’( Ci5y Z v
‘| The basic quantity is:

Momentum (‘”»/ » D Torque ¢ C Volume@@

&ﬁea Lz

Distance i v/ D Force U+

H| The number of base units in SI are: %5@

Nine ¥ D Seven =\- Q SiX
_ &

Watt = 1s D on 'y C Kilogram rlf £ v

Il Amount of a substance in termsof numbers
] is measured in:

Mole J» v/ D Newton /¢ C  Kilogram rlf i1
| The number of basic units are:
| Nine D Seven =L v C Five ég
1| Kilogram is a:
Derived quantity Derived unit Base quantity
N33 9, 2 L3P ‘ A Solx

| The unit of density in system international is:

i Kgm-3 v D Kgm-2 C Kgm-1
| Which one of the following is the smallest

| quantity?

I 5000 ng v D 100 grams C 2mg

1] One micro meter is equal to:

103 m D 109 m C 103 m

1| One millimeter is equal to:

1m3 Vv D 1 dm3 C 1 cm3

1| One tera is equal to:

1018 D 1012 v C 10-#8

| One Femto is equal to:

1045 D 10-15v C 1.0

B

B

B

:%53’.’ Lsd KJ" g
Urdu s A

e Qe 3 e o LS Sl 2l U7

Sound
X3l
e b sl dast St
Atomic Physics
J Al

Sl tegriu L AR
Mechanics

A

A

A

Wy syl

Mass U v A

JS w86

Speed 4 A
IS YA i
Three o A
?9.u$3¢255?l.u:’/c_ui'gl
Pascal Jﬂ A

_‘L_e;gw_/ r}mu&-J R Jf’_u’/ 9

B

Gram rtf A
14-:'1;"6/&/3 gRnr:
Three o A
:%,glr'l/ig

Base unit
2o v A
e LSS B
Kgm A
Ce 3 o S U = U
0.01g A
el Yy Ny
106m v A
e A SLl
1 mm3 A
S AR AL
10-2 A
:é.,cl,:;{‘;..{l
10-12 A

10

11

12

13

14

15

16

17
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| One meter is equal to: o@pakcity-org %" sedixtd Ll |18
100 mm D 10000cm  C 100 cm v/ B 10 cm A |

1| One Mega meter is equal to: e 26 19
1012 m D 10-6 m C 109 m B 106 m v N

H| One Giga gram is equal to: :é,/.l,(rljéﬂ.{l 20 |1
10¢6g D 103 g C 10°9¢ B 109g v A

| One pico meter is equal to: e 2k 21
i 106 m D 106m G 10-12m v B 1012 m A
| whih et s most bl o eSS e _ i Lo Hnstoiotof )
Screw gauge Measuring tap Vernier Calipers Metre rod i

EiF D 256 ‘ J/.,ul'.f/fzs v B A A

A student cl-aimed the diam’eter of a wire as e oo 241,03 2}:;.:5{;&&:_@-@}2_(“4%9
1| 1.032cm using Vernier Callipers. Upto what extent ‘ 23|
1| do you agree with it? Lt Fa”
1.032mm D 1.03mm v C 1.0mm B 1mm A i

1| A measuring cylinder is used to measure: -c;_c%g (}Vc.,;i%[}j i 24
Level of a liquid Volume Area Mass i
Jedus” D edls V7 . Lz B J A i

| A student noted the thickness of a glass sheet using 4,J-fcd*-tf(§’”éﬁ’fd/¢?<f“4.&aud/@'Q/('L(be)M{'
a screw guage. On the main scale, it reads 3 8o WK it T2l & PO B 2 i3 Lk 25
1| divisions while 8th division on the circular scale o R I
| coincides with index line. Its thickness is: e JerdUiL AUt
3.08 m D 3.8 mm C 3.08 mm ¥ B 3.8 cm A i

1| One cubic meter is equal to: @ = e gL L1 26
i 106 liters D 10 liters C B &@R@iters v B 100 liters A
1| One liter is equal to ......... milliliters: @ ,) Chadie Y. A, oL 27
105 D 104 @%% 103 v B 102 A |

1| One liter is equal to: Qgg‘@/’ e 2L 28
1 m3 D 1d 1BV OV ¢ 1 cm3 B 1 mm A

| The least count of meter rule 13\(X\\j§\ e LKl A 29
1cm D <\1~0.01 mm C 0.1 mm B 1 mm v A [

il The length of a meter rule is: :%J:«zJHJjuﬁ 30 |-
| None of the above J738S D 2 meters ( 0.5 meter B 1 meter v’ A
| The least count of a Vernier Callipers is: :%wsf:,,%;.&.ffﬂ 31|
1cm D 1 mm C 0.01 cm v B 0.01 mm A

1| The least count of a digital Vernier Callipers is: WO (UL A-.?:f A JEs 32
1 mm D 0.1 cm C 0.001 mm B 0.1 mm v A

H| The least count of a screw gauge is: :.1;_{;%@%6@/‘ 33 |1
1 mm D 0.0l mm v C 0.001 m B 1 cm A

1| Significant figures in an expression are: u,ta“_ﬁc_.):fﬁlu:mu/ 34 1
all the accurately Ll e ac-cgrately
known and all the 1,:1?: }T:SS éggtsbig? all the accurately " ;
doubtful digits D digitu c  knowndigits g all the. d1§1ts A |

e a4 J:l.::.mrﬁl’“‘ O s :l”c.wz)rl/“ e oy o 4 ;
= S

| The number of significant figures in 0.00580 is: :;.;I,&'JurmﬂfJ0.00SBO 35
i 2 D 3V C 5 B 6 A |
1| 0.027 has significant figures: ek 0.027 36
4 D 3 C 1 B 2 v A I

| Motion of objects is studied in: -+r@gyw(Jerw; 37|
......................................................................................... f
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Vut =¥
Sound 43l D Plasma Ly C Light = B Mechanics JC:{ 4 A
A body has translatory motion if it moves along a: _%L"/J]w/;ldﬁﬂd/?’jlfc}r&()’o/ 38
| Line without rotation Curved path Straight line Circle I
Ble BV L LA £ utffpy 3 Lo A A
H| The motion of a body about an axis is called: _Léw/jfd/f)')jé/ul%_i 39 |
- Vibratory motion Random motion Circular motion Rotatory motion !
TS LA ) e ‘ S h ’ Frfiu v A
| The straight line motion of a body is called: _%(}MJ!AU:@WMJ()'O)/ 40 |4
I Vibratory motion Random motion Linear motion Translator motion i
f TS A A D e ¢ Ty RV 5 Sl A f
1| The motion of a pendulum of a clock is: e il S 41
I Random motion Linear motion Vibratory motion Rotatory motion I
5 Frie D B TR MY FrsRon S
The motion of a steering wheel is: ..;.J"rJJ..”‘: LA 42
Linear motion Vibratory motion Rotatory motion Random motion I
§ Fr L O N R Gk i
1| To and fro motion of a body about its mean position is called _?JMJ;»JI,LL?&/;;%ZTL&’I;JS.Q 43 |H
Circular motion Vibratory motion Random motion Rotatory motion (£
I Ky D TrEEA LY t Siae B F
1| See-saw is an example of: _./‘;.JL‘,‘»VQJ:/‘JL/J 44|t
Vibratory motion Random motion Linear m0t1 ) Translatory motion
; TS aAL Y D e ? ‘ u’rg/ka ? Fr§ R A |
Brownian motion is: g: “\Q e Ll 45
Random motion Vibratory motion @ﬁcular motion Linear motion
: a4 ) TSRS V;?\Eg SrE s ’ Ll A 5
H| The flight of a butterfly is called: <’)\Q‘/} :é.uﬁygfd’“ 46 |-
Rotat?ry motion 5 V1bratoi§}§ ﬁ‘lotlon 2 CircuI.ar motion . Random motion ¢4/ "
i OEVD Q\\bérd fA Sr Ay Fr v ;
1| Which of the following is a vector quantity? ?9%,J|&Jufc_utduj,?/p 47|t
Power | D Displacement = _35v" C  Distance ¢ B Speed tr A |
| Which is a scalar quantity? ?..:;./.L.'C;uﬁ’f'dui/ 48
Work s v/ D Acceleration ¢4 C Velocity ¢vs B Force u# A
‘| Which one of the following is a vector quantity? ?é./'ﬁf'/i{}ugldc)[c_u:d},?jﬂ 49 |1
Mass 'l D Velocitygw:vv C Distance <6 B Speed & A
| Which one of the following is a vector quantity? ?;.Jlﬁjﬁbgdufg_uﬁdﬁjg,p 50 |-
Mass U\ D Power s\ C Work /s B Force J.¢ v A
... is not a vector quantity? . L. -%Uf"’&"/b{’“{’ 51
Torque St D Work s v/ C Velocity ¢ us B Displacement o5 A
| Which of the following is a scalar quantity? S K LiSuf e Uidipier 52
Torque St D Velocity s C Power s v/ B Force ¢ A
1| Which of the following is not a scalar quantity? S i A eSS0 53
Power sl D Displacement ¥3v C Distance B Speed ix A
1| Vector quantity is: —e i fhy 54
Power .\ D Displacement eo¥5v C Distance B Speed 4 A
: Efncéfailg%gﬁ?lacement of a moving body with -?Vﬁ“b&-ﬁ;/ﬂw“{:ﬁ)/wdj&:ﬁd/;uf( cc

IIIIIItIiItIIIiIJIiIIIIIIIIiIIItI]IEIJIIIIIIII!IlIIIIIlIEIJIIIJIIIliII.IIIilllItIJIlIIIIII
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Velocity §us v/ D Deceleration o= 45 C Speed v B Acceleration (24 A
| the highest point wilbe: Sk binsgousr e i i 441 56
i 100ms-! D Zero /v 10ms-1 B -10ms-1 A
H| A change in position is called: a@ pakcnty org %o -‘%-JMUEJ?' u:‘y/“',,j{: 57
|  Distance A6 v D Displacement 3 C Velocity ¢ us B Speed &r A
1| A train is moving at a speed of 36kmh-1. Its speed S ms-L;.@/:f}:..éngmh-136@)..{1/ 58
| expressed in ms-1 is: £
i 25ms-1 D 20ms-1 C 10ms1 v B 5ms-! A
1| A car, stzflrts from rest and attain ayelocity of | SHE3 22208 o8 2 3/&3;’?/&/7‘:_;)[;6/&%//{._{'
1| 20ms-1 in 8 seconds, the acceleration of car will : _ 59
1 pe: ?Knu‘%/l’{!gu’l_é.ﬁf/fbub’u:
: 3.0ms2 D 2.5ms2v C 2.0ms2 B 1.5ms2 A
{| A sprinter completes its 100 metre race in 12s, its flfu’U:leJchc.t'/J‘(u*wﬁlqu J/’lOOd,l/’/..fl
|| average speed will be: QJ
i 8.33ms1 Vv D 8ms-1 C 12ms-1 B 100ms-1 A
| Unit of velocity is: —e S 61
] Meter Second Meter per Second Meter per square
# D Jre ¢ giev B & A
|| Speed of falcon is: e drdinlty 62
j 200kmh-1 v/ D 300kmh'! C 250kmh! B 150kmh-! A
|| The speed of cheetah is: e kr g 63
| 90 kmh! D 100kmh?  C 70 kmh@g\ 200 kmh-! A
1| If an object is moving with constant speed then its J’—J’(?@»-MKJ’”JJ'WEJ/&@JVL%?&U[()'vf'/f' -
distance time graph will be a straight line: /2Q> 28 vt (?'/ LUl
Inclined to time axis Parallel to time ax1s<\ L>9d0ng distance axis Along time axis
: /.;.La’}'/'/‘{l(/’li’ 2 4.JJI/‘£/{1 ’6\ \é LC.U:JJ/‘QL.L‘b . é.uifaf’d//glf't" A
| e » e (s S s s i 5
In motion D Btiable s‘ffetgd C At rest B cxl(;\t];?ﬁ Z‘Si’d A
%u:&y J/"c:..,grg)’ (S8 %J:MJ J]Lé—.‘f&fp!{‘/
| 1f an object is moving with constant speed, then its !fﬁ:wat—d'ﬁJ'jFEé{?J'%—P/JfC-é{&U/Kw..f'/f' -
| distance-time graph will be a straight line: ¢
[nclined to a time axis Parallel to a time Along a distance Along a time axis
PSR D axis pLAfeV L axis £ 56 LA ik A
The area under the speed-time graph represents: e b LB L Fehy 67
i Velocity s D Time #t C Speed 4r B Distance 6 v/ A
Convert 54 kmh-1 into ms-1: JAJ & Ut mslS 54kmh1 68
_ 20 ms-1 D 15 ms-1 v C 10 ms-1 B 5 ms-1 A
Complete the equation: vf? - vi*= .ccoe... . L. = pf* - pi* :Q/J‘(;_A,L» 69
) t D 2aS v C Vav B S A
Complete the equation: vf=.......... . = vf. /| J“: =hls 70
% D vi + at v C Vi +%at2 B vi- at A
Third equation of motion is: _é..;,uud/fJJJ 71
: F=ma D wvf‘-vi* =2aSv C vgF=v;+at B S = vt A
: zsgri;iig;fn of a body falling down freely is -:‘;.Jn@,}?afd/d‘-’-)’gé.:C(ini.m"_fz;;f:fﬁ -
] 10 m2s? D 10 ms? C 10 ms2 v B 10 m2s2 A
| Which of the following is the unit of momentum? _gﬁggf‘grc_uﬁdj,;/ﬁ/ 73
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: Ns-1 D Ns v C kgms-2 B Nm A
| Inertia depends upon: ??4‘/‘;%’1@/7:_‘_):‘)“5,;/,@» 741
: Force ¢ D Netforce y#es C Mass UL v’ B Velocity ¢ us A
1| The quantity possessed due to mass and velocity of . ) :
| v 5 e ; . TE 7 a
1| a body is called: &b a5 ’ULJK)U/ [
Inertia [/ D Momentum ("f »v C Velocity ¢ s B  Acceleration ﬁ)fn A i

|| Formula of momentum is: -LUMK(”” » 76
: M = mv? D P = mv-! C P=mvv B M =mv
H| Mathematically momentum is defined as: e J(“frc..ai_)Qu 77
v I

P=mvv D P = (mv)? C P = mv? B P =— A I

I m i
1| The product of mass and velocity of a body is called: _ujz‘i//.,,ﬁ‘j"uiiumlwéﬁu’( 78
1| Momentum (“f v ) Work s C Force u.# B Torque St A
| The SI unit of momentum is: _?&guiﬁ.flﬁ/gﬁf 79[
Ns v D Ns-1 C Kgms-2 B Nm A I

1| A string is stretched by two equal and opposite -« N10.15+§ss *—:.C'/c'-é-iril?gf SRy TS BTN i
1| forces 10N each. The tension in the string is: 8 sl K S I
: 20N v D 10 C 5N B Zero 3 A |
|| The mass of a body: Ll 81
Decreases when moving Increases when Decreases when I

None of these . . : a

i/ p D with high velocity accelerated B accelerated A i
AU ctonf 12 e Uiz el igd Sk e tbnf i S M 1

i == A e&f ” ’ " P i
1| When horse pulls a cart, the action is on the? \6) ;B ?é.t'y:/?u/d’gl;’%.t'{fd%clﬂ{_ﬁ 82
|| Earth and cart ,§¢sic2; v D Horse ,ei¥ C “@él\\t% L) B Cart ¥ A
H| Newton’s first law of motion is valid only in the i L@at“ru iEF 96 & Y Ju’y‘/ SSetdione 83)
1| absence of: \\\5 :
i Force U+ D Netforce JJ<@k€ ¢  Friction o, /Y B Momentum f‘”f s A
: < : ) F o :
: i})ﬁ)l/r;ug;;;lfut of a moving bus. Ther@v\a danger ?é.a/éKL/J)féw-gt'éJu{c_u:wdxoﬂ/}’u{l gal
I Opposite to the n\th\%&rectlon of Away from the Towards the moving
direction of motion D motion C bus B bus A i
Seer iz St 7 Serled7 v e J" J}JJ,JJ"'JJ‘? :
Which of the following relation is correct? ?+U;)yvU/L¢J59;p 85 |
i = :
F =— D F== C F=mav B F=m-a A i

i m a |
|| Amass of 6kg is moving with an acceleration of 6kg Zﬁugngms-zdui./f,{,m_f__p/gf/:.ﬁkﬁé o |
1| 2ms-2. Force acting on it is: g i
12N v D 8N C 4N B 3N A |

1| The unit of weight in system international is: _é.dfggujjufﬁ. /*’JI(L/ 87 |0
i Newton ¥ v/ D Pound fcfg C Kg f'j A1 B Dyne /15 A
| How much acceleration is produced by a force of o il ;
1l 100 N in mass of 50 kg? ?ng,fkgbfui().{lékg 50=v2#¢100N 88 I
! 2ms? v D 0.05 ms2 C 20 ms-2 B 0.5 ms2 A
1| 1 Newton is equal to: _%41,{@”5“{1 89 |1
: 1 kg-im-is-1 D 1 kgm-1s-1 C 1 kgms B 1 kgms2 v’ A
The weight of a body is 147 N. Its mass will be: _KnJLKJ1_4.N147uJ;Kﬁ.,§f 905
1.47 kg D 0.147 kg C 14.7 kg v B 1.47 kg A

i Suid - Mg H10ms 2t Lkgsudg |
1| The force produces an acceleration of 10 ms™% in a L f) . . 91K
1| body of mass 5 kg. The value of force is: ey I
] 50N Vv D 30N C 20N B 2N A
| Rate of change of momentum is equal to: _93n414c}J¢,§°uﬁf"’f¢ 92|
......................................................................................... Te)
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| is:

Centrifugal force " Centripetal force o Gravitational
SN - JASES force U S~y

?%81}/&/}’%;}1;1(()'&1};}6@/ 105

Magnetic force

P A

| The number of forces that can be added by head to tail rule are: _9.03‘9&@,% G b S it e Jo ke 106
| Any number s 3Sv D Four C Three B
| The number of vectors that can be added by head to tail rule is: -‘;;.M@.IZCL?.L,IG’-uﬁ;?;lﬁd/;}fm.,dudf%z 107

Two » A

=%

! Distance w6 D Netforce U/ses Force U.# v/ B Torque ¢ A
Complete the equation: u@ pakmty org%o = (Pf;P':) :Q:/(J';.:,UL» 93
: M D T B Fv A |
| Which of the following material lowers friction J:U'ﬁ-éful/‘f"‘f—u}/d’”—/ wdd S et i
H| when pushed between metal plates? ¢ b wlt o polss
Oil " Air : Flnson‘;?iz?le . Water i

JTv # S\ ke % ;

1| The force that opposes the motion of moving objects is: -%-J/G%J*’KJJ:j”JFL?'L”L/JffW’;” 951
| Momentum f”f ¥ D Friction u’( PV C Action J’g l B Weight s A
H| The maximum value of friction is called: ..?.3M_~,§wg;c_uytfuy/' 96 |-
Kinetic friction Limiting friction Normal reaction Cold welds I
s N 7 iiodf A

H| Coefficient of friction is equal to: _+414¢;f‘£1/€f) 97 |1
Fs + R D ki3 C FsR B =y A |

Fs R i

| Coefficient of friction between glass and glass is: _‘T_JJM&l/Lf)uyJ;LJL?JJIJ% 98 |H
_ 0.2 D 0.8 C 1 B 0.9 v A |
1| The value of coefficient of friction between steel and steel _c.oﬁgfwgﬁ’l/éf)uw;aidymf 99
0.8 v D 0.9 C 0.0 B 0.05 A |

| Coefficient of friction between tyre and dry road is: _g,_,i J_/d’lféu’(/uvﬂ{.wu&ﬂw 100
: 0.2 D 0.05 C 1 3D B 0.6 A |
| Coefficient of friction between the tyre and road is: — <;© -La.cfé'dl»fﬁflfiuy/'uynéﬁw:u’t’ 101
ﬁ 1 D 0. C % §§‘?.,..0.6 B 0. v A |
| Coefficient of friction between the ice and wood QI L© _%JJw‘&!féf)uyjjédﬂJﬂJ/, 102}
_ 1 D 0.2 8%}:5 0.05 v B 0.29 A |
| Coefficient of friction between the i iron aQ M is: -;.;J:Ja-f‘&jlfégy/'uyﬂégﬁmuﬁ 103[f
; 1 v D 0: C 0.62 B 0.9 A |
1| The force required to move th@% n a curved path is: YT IS S+ RN 0 o S a2ude 104]
Centripetal force Gravitational force Tension Centrifugal force i
o D . i N4 C N A |
JASES eV U 6yS o A FRG i

Any number sy v' D Four /4 C Two s B One I A

1| The number of perpendicular components of a force are: _%Jﬂ)lp'ju( Yo },;‘/duf L }Qu’( 108
Four D Three C Two 5 v/ B One A

1| A force of 10N is making an angle of 300 with the J"gu’ii’u"-é-dlww“oOﬁ’l«’f—/—/r'xﬂu’ﬂ’v('Jdi’lo it
1| horizontal. Its horizontal components will be: K rf
8.7N8 v D 7N C 5N B AN A

{| Tan 45°is equal to: Tan 45°_c 4. 110
1V D 0.577 C 1.732 B 0.5 A

1| Sin 45°is equal to: SR 45° 2.z 111
] 1 D 0.707 v C 0 B 0.866 A

1| Sin 45° = Cos 45° = ......... Sin 45° = Cos 45° =.......... 112

......................................................................................... Te)
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" 1 |
_ 0.707 v D 0.866 G Undefined B 1.732 A I
The value of sin 90° is: _‘¢JJ sin 90° 113
“ 0.5 D 10 G 1v B 0 A
| The number of perpendicular components of a vector are: e IS L5 LA 114
' One (I D Two » v C Three % B Four . A
1| Ina ?ight angled tri:fmgle, length of base is 4 cm Bt EH SSQJ}:;:lcm 4&)&/@5.%&1,,),#5.‘_9
1| and its hypotenuse if 5 cm. The length of a " 7 145
| perpendicular is: -Q/r)"’d‘r"
i 9 cm D 20 cm C 3cm vV B 1cm A
| Aforce of 10 N makes an angle of 900 with x-axis. 10 NuwdLiJ x-axis ”Q&I&J’KJ'-%W:’W%OJVL .
1| Its horizontal component is: N
11 Maximum sl sl D Zero # v C 5N B 10N A
1| In a right angled tri.angle, length-of base is- 4 cm tani_./_—-cmBJLJJ r‘mcméldqubu"uLuﬂ/ub.ﬁ
1| and perpendicular is 3 cm. then its tan ?? is equal 17
1 to: Jy.a’ JG
: 0.6 D 1 C 0.75 v B 0.8 A
1| If Fy = 4N and Fx = 3N, what is the magnitude ,, . - - 118
I Of reSultant force? QJﬂgj’ﬁ’JJJ},ﬂ;ﬁjéJJ},J'}JﬁNB = FXJJ'Fy - 4‘N)/l
I 10N D 12N C 5v B 7 A
1| The turning effect of a force is called: :wg{/}u@’:f&u@)o’( 119
i Work s D Pressure 2 C Torque it v/ B Momentum (“f' & A
| In SI, unit of torque is: _4.&5KJEJJ%;;(""’ 120
: Ns D Nm? C Nmt . B Nm v/ A
| The perpendicular distance from the axis of ﬂ"?@ »\ o BB o
1| rotation to the line of action of force is called: i 6 A6 b ST ST Fie M—’"/{’
Work /s D Momentum ("f # || G 13{%\ ) ‘E/ arm ¢Jexy v B Torque St A
|| The centre of gravity of a triangle is at: @L@ -é.t'}f(zz/ﬁ_ﬁ/i;(&ﬁ‘f{ 122
Point of intersection of 5 Centre of axis { \\5 Point of intersection of . Centre A
: \_
diagonals 8/ 5L 7, /(u \QJ medians /_#udw; v Ve

1| The centre of gravity of uniform ........ @ ,eet is the

| point of intersection of its diagona &V :I"u-’f%"%'t""'&?’-/-ﬂ/&*”d?igfé—/ﬂ@é*—"-"f'{.’fé-wﬁ 123

Square \\\/Gﬁ'cular ring Solid cylinder Triangle
I §C , D § 5K - b 6 0k s o 5 Kol v/ A
1| Centre of gravity of a sphere is at: _%m‘zgf_ﬂ/&gf 124
: None of the above Radius of a sphere Outside of a sphere Centre of a sphere
A8 D pcreY b T N/ B v B
| mecenmootgraviy ot rogularshaped bl e S SIS L P 2
| Screw gauge (’j'@xc D Plumb line Jv—k v' C Metre rod i~ B Wedge &' A

Point of intersection of medians is the centre of

| | 1 | ) ) ) ) ) o ) o (o ) e | | (o () [ o, ) ) | ) [ o 1 ) e ) ) V| ) ) o 1 [ ) O () ([ [ | ) ) o () | S 1)) e | () 1 ) ) ) o ) e ) o A ) ) ) 1 [ ) o [ o o ) o o (|

] - b F oom »° 5 sl SE2 & o 12
1| gravity of a uniform: s LT [ - (e ’w‘if?’wd}é’&” 6
Triangular sheet Solid cylinder Circular ring Rod
s o> D &, 5 C P> B A
i*:’:“dp v v J)/K/ #y
1| Two equals but unlike parallel forces having . - :
I ; - T L 2 (ol ) 127
1| different line of action produce: b Ln i FHITS IR S S s
| Neutral equilibrium Equilibrium A couple A torque
J,. D C B A
: FRLIN RSk 4% S
| A couple is formed by: :é,rTu:JjJrLg 128
-| two equal and opposite two equal and
forces not in the same oppsite forces in two like parallel two forces
I line p thesameline . forces B perpendicular to A
i : , : ; , each other
| Ssbensdind_ /o A FISL i S AFIsL i3S o ,
I . X ) e 380 pe k)
e 7192 sl e 18 IE pIGsls vV '
(.).-. ||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||| I-.é
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| A body is said in dynamic equilibrium if it has:
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| T O e B e ) ) T e e s e e e e ) ] T e e O ) ) e e s [ e e e e e = =R i ==

I T e e e e e [ e e e e = D = = = e -o

E@pakc“y'org%" :Jl.fﬁzg.l:’ﬁufﬁ:}d;gl._ﬂ‘:ljﬁugl 129

Uniform speed
p and acceleration

ﬁp&jggﬁ){lm&;d/

Zero acceleration

ﬁ/’“gﬁ)‘“g?/

1| Abody is in neutral equilibrium when its centre of gravity:

H| According to 2nd condition of equilibrium, must be zero:

Sum of forces Rotational force

Uniform speed
!c'l’/l.a;:{f;;-:’u(

Linear acceleration

Uniform acceleration

B P
s iz M

A

89 ST A6 Nt i AS k1) 22 L

. . K its height if I hel [s at its high
s situated at its base eeps- 1S height1 Ssatt .e -owest S at 1ts- .1g est
‘G D displaced C position B position A
W | b v " & & & %
Tl ;.C@C;l/,{dﬂ:d,l v )1'4:0’*,'};’:0[/@{, ﬁ{,gﬁ}g@/ﬂ.
1 A body is in equilibrium when its: :ﬁ%muﬁé/d;{lﬁ,{l
| Speed and acceleration Acceleration is . . L
. . . Speed is uniform Acceleration is zero
is uniform D uniform C ,, B 2 o A
& & i o~ o] T L Jaa )
ﬂ(‘}ﬁf{d":/q.fﬂl%;’ !f”/bgiud/% v frJLa,{,f,g:’ a
| The conditions for equilibrium are: b ASE Sk
Four J D Three % C Two » v/ B One (| A

& lblyrsgi........ [}fl!yib}d/mfﬁ/&;ﬂ

Angular acceleration

1000 km 4 D 42300 km
1| The idea of gravity was first put by:
Einstein Hooke
/ P D C
G =

1| A force which is inversely proportional to the
| square of the distance between the centres of
1 bodies is:

Gravitational force

2TV

Centripetal force

A SES e

Value of Gravitational constant ‘G’ is:

i | .
D 6.67 x 10-11 Nm2kg C

6.67 x 10-12 Nm2kg-2 o

| Near the surface of Earth, the gravitational field
| strength is:

10 Nkg1 v D 8 Nkg-1 C

The value of g on Moon’s surface is 1.6 ms-2. What
1| will be the weight of a 100 kg body on the surface
1| of the Moon?

160N v D 100 C

| The mass of Earth is:

6x 10-24 kg D 6x10%kg v C

[saac Newton
SESITY

TN SN G Pty P =T B VM EIL R U o

Centrifugal force
iSRG

6.67 x 10-
10 Nm2kg-2

e eSSBS L et 142

6 Nkg-1

67 L1 Lkgl00, 8 Sop-g ms-21.6-38"g 4L Uy

16 N

6x 1014 kg

B

B

B

B

B

L oM Y M B gy, A

| States of equilibrium are: e SE AL

Four . D Three & v C Two s B One (I A

| A pencil lying horizontally is the example of: _é.dﬁ‘f;&ﬁdj;c_;&i_)’(}’.l

Neutral equilibrium Unstable equilibrium Stable equilibrium Equilibrium
£ sk D tdshiacs ki@ P £ Ak A
An example of neutral equilibrium is: 9 G@ o _§.JL‘Z'»J “ /;’JJQJ};:‘
Book on a table Pencil at its tip X <, Block Football

“ W T D Flwgney Q&Q > B o v A

H| Racing cars are made stable by: 6\/@‘2 | :J vwéwtﬁuﬂ?q;h@

Decreasing t?eir width 5 Ct?lr;gin\gﬁmii{i . Decrefns;;lsg Egir . Increasing their speed A
L¢ s L\J(&ﬁ/ ST LU Sk

Earth's gravitational force of attraction vanishes at: _.:;.&L?n.../téu’n;d&/:dgj St

C infinity sy v’ B 6400 km 6400 km , A
Y e Ky S 139

Galileo

g .

R d

e

6

Frictional force

e A
g

e edfetif Pl S 1

6.67 x 10° Nm2kg2 A

5 Nkg-1 A
el s

10N A
_%JLKUU

6 x 104 kg A

I
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137

138

43

144
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The mass of a boy is 40 kg. its weight on Earth will be: kU140t 40kg UKL
i 500N D 400N v C 300N B 200 N A
1| The value of “g” increases with the: e Freddg
. Decrease in Increases in Increase in mass of
None of the above . .
1y D altitude C altitude B the body A
sl cf b v e b Lot sk LNl
| Value of ‘g’ at sea-level is ......... than hill: _%Jﬁu:.Lu‘»éuﬁ%:,E g g/;:/,cfi/
Half &>7 D Equal 1 C Greater »J v’ B Less f A
i| The value of ‘g’ at Moon is: -q-Jﬁa%'Jg@fthg
: 1.6 km-1 D 1.6 ms-1 G 1.6 cms2 B 1.6 ms2v A
|| The value of ‘g’ at Jupiter is: e edlg 8
_ 2594 ms?2 v D 10 ms-2 C 9.8 ms-2 B 1.62 ms2 A
|| The value of “g” on the surface of Mars is: -.»;_--Jn@fd/g{,i/gfé'/
! 10 ms-2 D 8.87 ms-2 C 1.62 ms-2 B 3.73ms2v A
1| The altitt'lde pf geostajcionary orbits in which dz{dﬂ:d/ulrwifjif&’lﬁ:”d?gx.fuﬁd"&ﬁd}?ﬁ
I communication satellites are launched above the 3
| surface of the Earth is: e e
i 42,300 km D 6,400 km v C 1000 km B 850 km A
| The orbital speed of a low orbit satellite is: e Bndr$i S S S L Oy
: 8000 ms-! D 800 ms-! C 8 ms1v B Zero A
I The speed of geostationary satellite with respect to Earth " ko So s Sz WL s
i Less ¢ D Zero 3 vV C Same ,@@B B Double s A
| The total number of satellites in global positioning system o) 7 b %
U 25 D 24 v C ;Qgg\ 22 B 12 A
: 1 K “j/ 3 b Sk b o .
1| The speed of a satellite nearest to the Earth’s oyb@g?) -é—d”f‘%Ji—rU’fdfvgf’/ﬁdf/
: 10 kms1 D 8 kms1 v \g\‘j 9C 7 kms1 B 6 kms-1 A
1| The height of a geostationary satellite 1s\ahdtrt\) -9.(3;4(5, Flablosur
i A
_ 38,000 km D 10000km C  6400km B  42300kmv A
|| The moon is nearly ......... awa ﬂf{Q the Earth: I — L P oSV
: 37,0000 km D 37,000 km C 3,800 km B 3,80,000 km v A
| The moon completes its one rotation around the Earth in: -é—t'/y/gvf'%"/édxﬂg
31.3 days D 29.3 days C 27.3 days v B 25.3 days A
1| The centripetal acceleration is inversely proportional to: - bn” 4’5’{»&’ A M
Mass and radius " _ ) 24 . A
Uk sl J Radius (=4 Velocity ¢ us Mass Ul
Centripetal force is directly proportional to: - b S J{f’{-ﬁj S S S
- R D Vv C Vv B m?2 A
|| The velocity of geostationary satellites with respect to Earth is: _‘;;.Jnc_gtéiw;é’ MEACat; a2
15 kmh-! D 10 kmh-! C 5 kmh-! B Zeross v A
| The work done will be zero when the angle I
1| between the force and the distance is: e b L ool 9 28 30 2 s
: 1800 D 900 v C 600 B 450 A
1| If the direction of the force is perpendicular to the . )
|| direction of motion of the body, then work done K Lninlsf AL er ST v erduid /]
I will be:
None of these 2y y y
5 D Zero v C  Minimum ﬁ/ s B Maximum sl L7 A
| U 5
{| The SI unit of work is: -ngﬁ';.ﬁm,
— Pascal f L D Watt ~1 C Joule J# v B Newton ¢/« A
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1l If the velocity of a body becomes double, then its ; akcitv.or %D . S ok > 17
| kinetic energy will: O@_p b g‘ -tﬁ/’ugdKJJu;_L?nl,C:o’U’Jf)Ujf’ L

I

Become half ’ Become four times . Become double . Remain the same X
%Jlgudﬂj %Jb}’iuﬂjl‘g v é.(jlgﬁt-@ ‘a.(}”@:aﬂ"')/
| The kinetic energy of a body of mass 2kg is 25]. Its speed is: ke Ui J258.0 6 3607 L L1 #2166
] 50ms- D 25ms-1 C 12.5ms! B S5ms!v A
1| Kinetic energy is directly proportional to the ......... s s ; A I
f J 545 ths by ¥ 167
| velocity of a body: _§.de/ g,u;:éjfl;f. ......... LJU}J()J/!_Q (}KJKUJ
Four times "t D Threetimes .t C Two ties /s B Square &, v A
1| If the velocity of a body becomes three times s . " _y -
| (8. ba' Z b U e ’ 1
| greater, then kinetic energy will be: -G UL LA s/ 168
Six times 7z D Fourtimeste C Ninetimest¥v" B Three times /% A

1| The energy possessed by a body by virtue of its
1| motion is called:

_%JU{J‘/IJIM_[N;&:_;}JJ}”JJIuf()u/( 169

Potential energy Kinetic energy Chemical energy Nuclear energy
. (=S D ; 1 C : B . K A
&/ld’f;’: S 36V &/IJ@‘{ &/'/:(}:
| The work done in lifting a brick of mass 2kg . PR .
P J 4 - > oo Jcbite 170
|| through a height of 5m above ground will be: Kt Ll FGstdmS ot "{""('Jﬂf’gz
i 100] v D 50 C 10 B 2.5] A
1| The energy in the stretched bow is: -;.Jl}:(&)lu?rufcju/énj 171
: Sound energy . Heat energy i Kinetic energy B Elastic potential energy A
Gk Gl S 3¢ Safmy b v
| Hammer raised up has energy: _%Gﬁ&jlu:dj’ﬁfémfﬂ 172
: Heat ener Sound ener Kinetic energ; Potential ener
S D i - e OO A
Gorles S X3 &/I@K ~ J./IJ"'J; v
| Which one of the following converts light energy P se e , ;
| 2 LS LS v /e o ._‘:f" sl 6o 3 A o 173
1| into electrical energy? ;Q?S%» i Ak G e Pipeod e gt s in
I Electric cell Photocell %L}‘Electric generator Electric bulb i
S > ki SOt i N7
AN

| When a body is lifted through a heightll&\ﬁh@v&ork utf'&ﬂjlfJJ!JsK@4Jl§§.b@£tﬁdeAhfﬁo’;e _—

| ] | 1 | ) ) ) L) ) o ) o (ot ) e | | (o (S [ o, ) ) | ) [ o ) e ) ) O | ) ) (o 1 ) O () [ [ [ | ) ) o o) ) () o e | () o 1 ) ) ) e ) ) ) o o ) ) o ) 1 [ ) o o o ) o o (o

1| done on it appears in the form ofit/skif\é\ e byl
«’\\ . ¢ :
Geothermal energy . @/&ﬁtic potential i Potential energy B Kinetic energy A
Gt Az energyy./| Jﬁfg.éw &)ldf“‘fg v &)u@‘é(
| The energy stored in coal is: e G ise 23 LS 175
Nuclear energy Chemical energy Kinetic energy Heat energy
s K D ; C . B B . A
&/'/:K}: gﬁ/lgﬁ‘{ 4 S 6 G sl
| The energy stored in dam water is: -%Jﬂ&jlow&o/f}'u’:&géﬁfj 176
: Thermal energy Kinetic energy Potential energy Electric energy
. D . C Y B - A
S 7 G 3¢ Sy v AL
| — device converts light energy into electrical energy: ... <3S S EHE S E a1y 177
Electric cell 5 Photocell . Electric generator 5 Electric bulb "
SIS SV A M S
H| In Einstein’s mass-energy equation, c is the: -e.t'//;wcutm;u&)l_ut.JJ&JT 178
Speed of Earth Speed of electron Speed of light Speed of sound
J, D ; : C N B . . A
i zﬁ:‘ffd/u:J &Jd:f?l /g-.::“(,((fu\/ A0l
| There is a hot molten part, deep in the Earth called: _%ruﬁ;mu@%fwélfééﬁj 179
Plasma Lt D Mixture £ C Magma & v/ B Lava isy A
| The source to produce pollution free electricity is: e A e Ay 180
Radioactivity 5»%1s%, D Wind turbine i 4 v C 0il ST B Coal Jy A
H| Rate of doing work is called: -uzgffc}gfé_/._ﬁ, 181
; Momentum (‘f # D Power s, v C Torque Jt B Energy §./i A
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e e e
| Power is equal to: e sl 182
~ ¥ D WTZ C 5 B Wxt A |

1l 10 joules work is done by a machine in 5 sec, its power will be: -Jm;ng-?.J/_ﬁ;leOJfgé’Su?u{i 183}
' 50 W D 25 W C 10 W B 2W Vv A
| One horse power is equal to: _4.41,;),&@4..@ 184]1
; 1100 W D 1000 W C 746 W v B 764 W A |
1 MW is equal to: -<421MW 185
: 108 W D 106 W v/ £ 104 W B 102 W A
1| One kilo joule is equal to: -« 41K] 186
; 103 W D 109 W C 106 W B 103 W v/ A |
{ga\:;v:}[(}:]};gfgzsei{?;l;)?w1ng state molecules do not “Lf:%’ufﬁigd;'ﬂ::?tuicﬂbdufd/m —
Plasma -.Jik D Gas u¥ C Liquid &L B Solid ¥ v A

| Molecules are very close in body of: _ugz_ﬁ.,{;ﬁmufﬁ ......... %;?L 188"
Gases -+ D Liquid ¢l C Solid s # v/ B Plasma Lt A

H| The fourth state of matter is: e holf 1891
i Plasma Ly v/ D Gases /f C Liquid éL B Solid U+ A
:,Agfh of the following substance is the lightest ‘-‘f‘:-ugc--,fﬁ-duf o
Lead -+ D  Aluminum ,f..‘»" 4 C Mercury$/,v B Copper ¢ A

H| Mass of unit volume of anybody: e _{_.L"M JLK(A:;_U;{LK- o’( 191
Surface { D Force (s C  Densitys v B Areal. A

|| In SI, the unit of density is: ) Q{:g\@ eSS i 192)F
: Kgm-1 D Kgm2 FL“\:@ > Kgm3 v’ B Kgm-1 A |
| Density = ...... \/75: i =07 193
1 Mass/volume Weuc,Jht/ma-lS\T\\b Weight/volume Mass/volume
U s D E){Q}L\C I s s B el [ ULV A

i| Mercury is denser than water: v\ S\ _%d/%c_&&.d/ » 194f
10.5 times 10.5¢" D 1\\\%\{11’1165 13.6v C 125times125¢ B 10 times 10 A

| 5 liter is equal to: _e bz P 5 195(
H 5x 103 cm3 D 5x10-3cm C 5x103 m3 B 5x103m3v A
H| SI unit of pressure is Pascal, which is equal to: _é.t'm,r,f‘ﬁg..gmé.&gﬁg{;,{.u:ﬁ'ﬁﬁ/ 196|
: 103 Nm-2 D 102 Nm C 1 Nm2v B 104 Nm A
i| One Pascal is equal to: _%m,{;u‘ﬁg,g 197|f
: 12 Nm-2 D 102 Nm-=2 C 1 Nm2v B 104 Nm-2 A |
| In SI, the unit of pressure is: _‘Ldjﬂﬂ/‘:wdﬁﬁ,ry 198
: Kgm-3 D Nm C Kgk-1 B Nm-=2 v A
Xxggttz}lc%lgsdtEfcihaev?/gt?errof)(;?"loar‘:feltee?gth g ?‘.%%d”ﬁf'f'dwd/ AL LK 1z60L 199
11m v D 2.5m C 1m B 0.5m A

1| At sea level, the atmospheric pressure is about: _%L"J’E,‘ji/‘;ﬂ{:uf/ﬁ-&’}ﬁ:l{.)ﬂi/ 200|H
1000,130 Pa D 103,100 Pa C 110,300 Pa B 101,300 Pa v A

......... works on Pascal’s law: -e.V/rK@ufWifg — il
Wedge Hydraulic press Vernier calipers Screw gauge i

& 0 Ayl v : S 0 s A

| Hydraulic press works on: 4.&/ (KJ-,;Jui’c‘y 202|
Hooke’s law 5 A;i?;ﬁ;?fs . Pascal’s law . Newton’s law A
LI Lt LI LY LIS L :
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zpe density of a substance can be found with the help d@ pakcity.org %O " &Cw/( o 02 203

Principle of floatation Ari?;rgeii:s Hooke's law Pascal’s law
bl g D _ JI;;G' Lt)/,yf’;l v - e salyst S 0 c.;,gJuiﬁ'Lgf’g 4
1| According to Archimedes Principle, upthrust is equal to: :;.Jm,uuvéd/ JZ10b L1 L s s 204
: mass of displaced volume of weight of displaced
none of these liquid displaced liquid liquid
S ES = Sy D snldiiniver C pdolilnite, B Al Bl it A
i 14 s v
| The Upthrust force of a liquid is equal to: _+3n4s4J;)JJu§tJéL 205
; pgA D pgh C pgv v B pgv A

| 1f W’ is the weight of the body and F’ is the
1| upthrust of liquid, then the body will float if:

E Both Band C B .« C u}»

y D W=FW=F C W< F W< F B W>FW>F A
According to Hooke's law: b L6 Zof 207
. Strain / stress = Stress / strain = Stress x strain =
Stress = strain
iy ,, D constant C constant B constant A
Llled Sl R e Rl s Y L e AR A
| The ratio between stress and tensile strain s: -g.JM e nd S /%J/LJ-;’};U. 4 208
_ Shear modulus . Young’'s modulus i Bulk modulus . Elastic modulus B
Ve s S Uik
I ~(O,
1l Stress/Strain =.........: @9\: = u%./fa/@; 209
’ A h S N, ,
Hooke’s law re llm.edes SN w\gg/n s law Pascal’s law
e v D Principle Gl 3\ {}W i B JEE L A
ek I8 4 %@/ i ¢ ¢
1| SI'unit of stress is: 6\{’& —e iy o 210
_ Nm Nm D NsNs\&" € Nm-INm-1 B Nm2Nm2v A
| Alarge water reserviour keeps the terhpérature of ; v
I RO P C L AES 7 315 211
1| nearby land moderate due to: \v\*\\ Wi cr. f RS Lo st 25 70,
large specific heat of less-absorption of low specific heat low temperature of
: water D heat C of water B water A
E a.g:d/ﬁﬂ:‘gazlidj:d/&& v G:..A?}Jy'jf.’&/lfﬁ/ L,?:JJ/&JI]{J&& L;}J}/j(&dg
1| B 1 o — state of matter, molecules do not leave

1| their position.

i Plasma Ly D Gas Jf G Liquid 5t. B Solid U# v A
1| Metals are good conductor of heat due to the: VY. T S S Ed i IS 7 #x 213
| Rapid vibration of their Small size of their Big size of their
molecules D molecules C molecules B free Elec:crons A
S E S L FLZEI DL Pkl AL S AT
......... of crocus is natural thermometer: -.;_./”-.fr,ﬁ@ﬁ........fu/;/ 214
Root # D Stem ¢ C Seed & B Flower J#£ v/ A
| Water freezes at: -e—f%ddx4j./.;ju)'n3g 215
: 00K D -2730K C 320F v B 00 F A
H| Normal human body temperature is: _é_é/jgﬁgu,pdkmt 216
: 98.6° C D 379F C 370C v B 15°C A
i\éli;(;lry is used as thermometric material because - oL, 5 xre-l:‘l?y/dv’*"b;,ubi‘)“jtbfﬁy}/d// o
All the abm{e . Small k.lfe%E capacity c Low freezi/ng point . Umgj{g;lntgz;mal A
properties «os (17, vV Sd &’I;J;;/ﬁ/ AT
The water converts into ice at a temperature: ?g.t'wdj, & Sl /.-.‘ u/ Jg 218
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St 2 QI Fud$JgidBus wiwn 2 ™1 206

oSS Bl ... Lol 02

| ] | 1 | ) ) ) ) Y ) o ) o (o ) e | ) | (o () [ S, ) ) | ) [ o 1 ) e ) ) O e | ) ) (o 1 ) O () (e [ | ) ) | o o) S ) () e | () 1 ) ) ) e ) e ) o A ) o o 1 [ ) o [ o o ) o o (|

Om=

IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

Please visit for more data at: www.paKkcity.org




O-
e

- www.pakcity.org
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_ 00 K D -2730K C 320F v B 00 F A I
| Boiling point of water is: _é_:.:fiz.ﬁ/uj(&g 219
; 100K D 2730 C C 1000C v B 00 C A |
Mercury freezes at: -e-t'??d// 220[
' -100° C D -39°C v C -357°C B 0°C A |
Temperature of ice in freezer is: -é.t'ng./;‘b&.i/,u’:;zj 221
" -28°C D -18°C C -8°C B 0°C v A |
Complete the equation: T(K)=.o.. ..~ = T(K)-Q:/(J;;;l;l,.» 222
“ 273 -F D 273 + F C 273 - C B 273+C v A |
| Absolute zero is equal to: _c.b’f/!/u)..-‘;r'rgl 223]
j -273°C Vv D 100° C C 100 K B 0°C E
| On Celsius scale, 50° C is equal on Fahrenheit scale to: _Ky/u//C"SO/JfCJ/V 224
_ 90° F D 122°F v C 102° F B 100° F A |
| Which of the following materials has large specific heat? S Jobor? es 70l frud 225
Mercury ./, D Water Jl; v G Ice Ji B Copper ¢ A

| Unit of specific heat capacity in SI system is: _%ngfli@A;Jﬁuﬁﬁ}uﬁ” 226
Jkg-2K-2 D JkgK C J-1kg-1K-1 B Jkg-1K-1 v/ A i

Specific heat of iron is: -4.,::-‘3:_,;1;&?_,! 22711
903.0 Jkg1K-1 D 470.0]kgiKlv C 920.0 Jkg1K-1 B 387.0 Jkg1K1 A

1| The specific heat of water is: _é.,»ﬁ';cm/&}g 228"
1760 Jkg1K1 D  2500Jkg!K! C 4200]kglKlv B 800 Jkg 1K1 A |

| Latent heat of fusion of 1 kg of ice at 0° C is: e q\ff._.ul/d;J;Uﬁ(d/u/(lfygl///ooc 229]1
" 336 x 105 Jkg! D 336x103]Jkg! C 3.36x 1(3}1@44 B 33.6 x 105 Jkg! A |
1| Which of the following affects evaporation? o bSO sz e Ut 230
All of the above Wind ifa%é area of the Temperature
Jlfri/", 4 D | 3¢ i\ﬁ“ \J liquid Lxl(i/p@l. B z:/.-.‘ A

| ofthe olving i e e S i GtEr £ 5 b
Steel £ D Braf\s\/? C Gold#¥ B AluminumFdv A |

| What will be the value of for a\S\th for which has x10-5K-2 2§21 it dardd LE U L _—
avalue of 2x10-5K-1? -Jﬁcf{..’.tf—*éfg'/éifﬂ:.{uf(ﬁbéu"-e-l E
i 8 x 105 K1 D 8 x 10-15 K-1 C 6x105K1v B 2x105 K1 A
X?i;hefaatsog used in spite of Freon gas in e Jod e dev //? LSSiLirs B 233
\F D NHs; v G H> B CO2 A i

| The way by which transfer of heat takes place are: B, L 7B 234
Four J D Three & v C Two » B One [ A

| In solids, heat is transferred by: ..‘;;_.@)Kmux)m’i!uﬁrl,quﬁ 235|1
Absorption .1 D Convection o**s C Conduction J"( “v B Radiation ¢*I$%. A

| Metals are good conductors of heat due to the: K B LK 236
Rapid \{ibrations of Small size of their Big size of their Free electrons
their atoms D molecules @ molecules B y A I

A AEE AL y’w’yg’(ﬂ;;gl.éul :/’w%ﬂ;;?LLUI AT

|| False ceiling is done to: e b yad K G buui 7= 237[]
Insulate the ceiling Cool the room Kee;()slte};iroof Lowerggizi;l;lght =

| ey VS S g s Sinfes .
| Cets e saearny L Lo Rl
| becomes one fourth becomes half remains the same becomes double I
{_Jwéu‘?gu{l D 93?:@” TV . < T c;_lef» A E
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N oyt -
| Unit of rate of thermal energy is: c@ pakcity.org %o -4-&{?6/5’(;&2'&'/? 239]-
: Second per joule Joule Joule per second Kelvin
_ Jndig T N 17’ S ok A
| The unit of rate of conduction of thermal energy is: _4.._1;;5(@;‘,@5;(&5.)@/? 240[
: JK-1 D K C ] B Js1 v A [
| Thermal conductivity of silver is: e St 28k 241
1 430 WmiK1 v D 400WmiK! €  105WmlK! B 245 Wm-1K-1 A |
| Thermal conductivity of rubberis .........: _?&.gﬂ‘j}&, 242|1
: 0.59 Wm-1K-1 D 02WmlK!v (C 1.7 Wm-1K-1 B 0.08 Wm-1K-1 A
| The thermal conductivity of a dry air is .........: _%&JJJ}&ﬁ,@ 243
i 0.026 Wm-1K-1v D 002WmilK11 C 0 03 Wm-1K-1 B 0.08 Wm-1K-1 A
| Thermal conductivity of brick is: i ) F Sl 244
i 1.7 Wm-1K-! D 0.8Wm1K! C  02WmlK! B 0.6 Wm-1K1 v A |
1| The unit of thermal conductivity is: - 2K 2} 245];
: Wm2zK-1 D WmK-1 C Wm-1K-1v B WmK A
1| The thermal conductivity of water is: _%&JKJ/&’J&& 246|H
: 0.59 Wm-1K! v/ D 0.8 Wm-1K-1 C 0.6 Wm-1K-1 B 245 Wm-1K-1 A
| Thermal conductivity of ice is: e I 8, 247)
: 2 Wm-1K-1 D 1.7 Wm1Ktv' C 0.9 Wm-1K-1 B 1.8 Wm-1K-1 A
H| Which of the following is a bad conductor? ?%ﬂ/ﬁfftvcjfc_uf;fj‘g;p 2484
: None of these (#3f D [ron (¥ C Wood §¥ v B Gold t» A
i| Example of a bad conductor is: /«-e‘{‘\»\ ce Je S Ao 249|
: Graphite _e;'tzgf D Wool ws v C ng\@ - B Gold t» A
H| In gases, heat is mostly transferred by: @ 5@3 _%%{mglidlﬁ;‘!}'wg)uﬁ/ 250]-
Absorption Convection L\ﬁélecular collision Conduction .

: SV D I \/7;@ 5567 L B I it
1| Convection is the process of transfer of h@@t/e(l)i%e to the: _c;;.h.,rK;,;l]Jl'ﬁ?lé_ﬁz:dig/ 251|
Free movement of m&%m\aeﬁt o f H?OOVVZ;‘ZEE% : Random motion of
&molecules D “molecules C molecules B Tolecules A f

“ I T § 7L Cff‘u-.-fl?dﬂw/?'!:gl' - Uiyﬁ-;l?q/..)d/j{?l' u’ff;‘fd/)'::?(. ;
| Rooms are heated using gas heaters by: :;J“J,;wé'_t?é(f z ¥ deiijﬁf 252
Conve::tion only ’ Radia&tion only " COT;Z?SS Enand . ConducEi?n only A
SV SISk A b fE H ;

i| Heat transfers through fluids by the method called: eI ez @B 253
Absorption A7 D Convection u"g/ v" C Conduction u”/ o B Radiation 1§54 A

H| Reason of glider to remain in air is: b s SinL K 254
Convection u‘g/ 4 D Radiation o*/§4, C Conduction u’( B Power | A

1| Land breeze and sea breeze are the result of: S o dﬁ(n)ﬂ'd/,(») 255]-
Absorption ¢+ D Radiation (#$ss C Convection o**¥v' B Conduction /% A |

| In liquids, heat is mainly transferred by: —c b @7 Sl 2561
Convection u"{/ 4 D Radiation %154, C Conduction u’( 4 B Freeelectron 7 /2,57 A

H| Which of the following is a good radiator of heat? ?é.ﬁld,f}.ju{lJaxliﬁ,du)/‘:,uidj,;;p 257|
| Agreen col?red surface . A white surface . A dull bl:ick surface . A shlréﬁgfasivered A
é/d/u(»’/v..{’ 54:“’”4 i/ﬂ.t:‘dﬂ‘i-b..{’ 53}111:_«ng v E

| The major source of energy is: e 21K G.H 258
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